Igualdades (F)

83+86=4+73

46 + 87 = ® + 58

51+11=6+ %

62+A=26+79

26+ ®@ =48 + 15

73 4+ 14 = A+ 42

73+12=70+X

99 + ¢ =99 + 95

65+70=93+ &

V+91=86+28

Halle los valores de cada incdgnita.

84 + [| =78 + 93

43+ O =43 + 20

81+ 26=V+89

85+67=0+90

81+ 59 = ¢ + 47

73+ 58 =66+ ¢

73+20=20+ ¢

48+ (O =62+ 23

32+93=V+52

30+ ©=83+6
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Igualdades (F) Respuestas

83+86=4+73
=96

46 + 87 = ® + 58
® =75

51+11 =6+ %
% =56

62+A=26+79
A=43

26+ ®@ =48 + 15
@® =37

73+14=A+42
A =45

73+12=70+X
X=15

99 + ¢ =99 + 95
4 =95

65+70=93+ &
=472

V+91=86+28
V=23

Halle los valores de cada incdgnita.

84 + [| =78 + 93
=87

43+ O =43 + 20
O =20

81+ 26=V+89
V=18

85+67=9+90
0 =62

81 4 59 = ¢ + 47
=93

73+ 58 =66+ ¢
0 =65

73+20=20+ ¢
¢=73

48+ (O =62+ 23
©O =37

32+93=V+52
V=73

30+ ©=83+6
® =59
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